R 3 B > Dimensions

. A ,
@ D . |
(
F
#7218 & > Specifications
BT /7818
MODEL A B C D
/ SPEC.
SO04Jaw 52 30 19 24
SO05Jaw 62 35 24 32
SO06Jaw 73 37 26 38.1
SO07Jaw 95 48 31 44.4
SO09Jaw 110 48 37 54
SO12Jaw 125 54 42 63.5
SO16Jaw 160 70 50 76.2
S0O20Jaw 160 80 55 76.2
SO25Jaw 160 80 75 76.2

N0, rower soFt JAWS
SH7JZEM

E

9.63 L5
12.68 9%
12.68 19558
12.68 05%
19.03 5%
19.03 9587
19.03 5568
19.03 5568
19.03 5564

F

7.94 1905
7.94 3905
7.94 1995
7.94 1905
12.7 1905
12.7 1905
12.7 0
12.7 2%
12.7 9%

G

M6x1P
M8x1.25P
M8x1.25P
M10x1.5P

M12x1.75P
M12x1.75P
M16x2P
M20x2.5P
M20x2.5P

H

14
15
17.45
25.3
28
30.75
41.9
41.9
41.9

11
14
14
17
19
19
25
32
32

3.5
3.5
3.8
4.2
4.2
5.5
5.5
5.5

-

N
6]

DO O W W W W W

21
24
25
34
34
38
48
58
58

ESfiI/UNIT:mm

11
13
13
17
21
21

PE
Weight
(kg)
0.45
0.9
1.3
2.6
3.6
5.5
10.4




